
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

D D

C C

B B

A A

LIGHTING

ISET5

CIN6

SW 2VBAT3

PG
N

D
1

IFB1 7

IFB2 8

VOUT 4

IFB4 12DCTRL11

EN15

IFB6 14

FAULT16

G
N

D
10

IFB3 9

IFB5 13

PA
D

17

U1
TPS61181ARTER

3
2

D3

1
4

D7

3
2

D11

1
4

D15

1
4

D4

3
2

D8

1
4

D12

1
2

D16

1
4

D5

3
2

D9

1
4

D13

3
2

D17

3
2

D6

1
4

D10

3
2

D14

3
4

D18

C7
0.1μF

1
2

D19

1
2

D20

C1
47μF

C2
0.1μF

1
2

D2

L1

10µH

12
D1

3
2

D21

1
4

D22

1
4

D23

3
2

D24

VOUT

t°

R1

LIGHTING_GPIO0_DCTRL
LIGHTING_GPIO3_ISET

SW

1
4

D25

3
2

D26

3
2

D27

1
4

D28

1
4

D30

1
4

D31

1
2

D32

C3
0.1μF

C5
4.7μF

R2
51Ω

IF
B2

IF
B3

IF
B4

LED DRIVER LEDS

VOUT

R4 165kΩ

R5
53.6kΩ

C6
4.7μF

R3
10kΩ

IF
B1

3
2

D29

IFB4
IFB2
IFB1
IFB3

5VJ1
J2

J3
J4

5V_FUSED

CIN

VBAT

EN

ISET

ISET Resistor Calculation Parameters

V_ISET = 1.229V (ISET pin voltage)
I_LED(max) = 25mA (derated from maximum, 
up to 30C)
I_LED(min) = 5mA
K_ISET = 1000 (current multiple)
V_x (max) = 3.3V
V_x (min) = 0V

Rs2 = K_ISET * { V_x (max) - V_x (min) / 
I_LED (max) - I_LED (min) } = 165k

Rs1 = ( K_ISET * Rs2 * V_ISET ) / { I_LED 
(min) * Rs2 + K_ISET * (V_x (max) - V_ISET) } 
= 53.7k

There is 2W available to this board and at a 
converter efficiency of 85%, there will be 1.7W 
available to the LEDs. Restrict the LED 
forward current to 20mA { 20mA * 3Vf * 7 
(LEDs) * 4 (strings) }.
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